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PART —-I/%mr-1
'CHILD DEVELOPMENT AND PEDAGOGY / aTet faem a fytet v

P ]
Directions : Answer the following questions by
selecting the most apprepriate option.

1. The following three aspects of
intelligence are dealt by Sternberg’s

triarchic theory except
(1) compenential
(2) social

(3) experiential
(4) contextual

2.  Howard Gardner’s theory of multiple

intelligences emphasizes
(1)  general intelligence
(2) common abilities required in
school
(3) the unique abilities of each
individual
(4) conditioning skills in students

3.  The sounds th, ph, ck are
’ (1) Morphemes

(2) Graphemes

(3) Lexemes

(4) Phonemes

4, In order to avoid gender stereotyping

in class, a teacher should ‘

(1) - try to put both boys and girls in
non-traditional roles.

(2) appreciate students’ good work by
saying ‘good girl’ or ‘good boy’.

(3) discourage girls from taking part
in wrestling.

(4) encourage boys to take risk and be
bold.

5.  Schools should cater to Individual

differences to ’

(1) narrow the gap between individual
students.

(2) even out abilities and performance
of students. _

(3) understand why students are able
or unable te leamn.

(4) make individual students feel

exclusive.
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"What kind of support can a school
provide to address the individual
differences in students ?

(1) Follow a child-centered
curriculum and provide multiple
learning opportunities to students

(2) Apply every possible measure to
remove the individual differences
in students

(3) - Refer slow leamners to special
schools

(4) Follow same level of curriculum
for all students

Continuous and  Comprehensive

Evaluation emphasizes

(1) continuous testing on a
comprehensive scale to ensure
learning.

(2) how leamning can be observed, -

recorded and improved upon.

(3) fine-tuning of tests with the
teaching.

(4) redundancy of the Board
examination.

School Based Assessment

(1) Dilutes the accountability of
Boards of Education.

(2) ‘Hinders achieving
National Standards.

Universal

(3) Helps all students learn more
through diagnosis.

(4) Makes students and teachers non-
serious and casual.

“Readiness for learning” refers to
(1)  general ability level of students

(2) present cognitive level of students
in the leaming continuum

(3) satisfying nature of the act of
learning

(4) Thorndike’'s Law of Readines;.s _
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10.

11.

12.

(2) Differentiate

A teacher has some physically
challenged children in her class.
Which of the following would be
appropriate for her to say ?

(1)  Wheel-chaired ‘bound children _

may take help of their peers in
going to hall.

(2) Physically inconvenienced

children may do an alternative
activity in the classroom. '

(3) Mbohan why don’t you use your
crutches to go to the playground.

(4) Polio afflicted children will now
present a song.

Learning disabilities may occur due to
all of the following except

(1) Cerebral dysfunction

{(2) Emotional disturbance

" (3) = Behavioural disturbance

(4) Cultural factors

An inclusive school

(1) Is committed to" improve the
learning outcomes of all students
irrespective of their capabilities

between students
and sets less challenging
achievement targets for specially

abled children

(3) Committed
improve the learning outcomes of
specially abled students-

particularly to

(4) - Decides learning heeds of students
according to their disability
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13.

14.

15.

16.

17.

Gifted students
(1) Need support not ordinarily
provided by the school

(2) Can manage their studies without
a teacher :

(3) Can be good models for other

students

- (4) Cannot be leaming disabled

Giftedness is due to
(1) Genetic makeup

(2) Environmental motivation

(3) Combination of (1) and (2)

(4)  Psychosocial factors

Which of the following is appropriate

for environment conducive to thinking

and learning in children ?

(1) Passive listening for long periods
of time : :

(2) Home
frequently

assignments

'(3)» Individual tasks done by the.

learners

(4) allowing students to take some
" decisions about what to learn and
how to learn

Learning Disability in motor skills is .

called

(1) Dyspraxia

(2) Dyscalculia - |
(3) Dyslexia

(4) Dysphasia

'Learning Disability

(1) 1is a stable state
(2) isavariable state
(3) need not impair functioning

(4) does not improve with appropriate
input

given
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18.

19.

20.

The following are the steps in the
process of problem solving except

(1) Identification of a problem

(2) Breaking down the problem into
smaller parts -

(3)  Explore possible strategies
(4)  Anticipate outcomes

A teacher should

(1) treat errors committed by students
as blunders and take serious note
of each error

(2) measure success as the number of
times students avoid making
mistakes

(3) not correct students while they’re .

trying to communicate ideas

(4) focus more on lecturing and

provide a foundation = for-

knowledge

Seema is desperate to score A+ grade
in an examination. As she enters the
examination hall and the examination
begins, she becomes - extremely
nervous. Her feet go cold, her heart
starts pounding and she is unable to
answer properly. The primary reason
for this is that

(1) she may not be very confident
about her preparation

(2) she may be thinking excessively

about the result of this

examination

(3) _ invigilator teacher on duty may be
her class teacher and she is of
very strict nature '

@) she may not be able to deal with
sudden émotional outburst

(6)
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21.

22.

23.

Which of the following cognitive verbs
are used to analyse the information

given ?

| (1)  Identify

(2) Differentiate
(3) Classify -

(4) Describe

Rajesh is a voracious reader. Apart
from studying his‘course'books, he
often goes to library and reads books
on diverse topics. Rajesh does his
project even in the lunch break. He

" does not need prompting by his

teachers or parents to study for tests
and seems to truly enjoy learning. He
can be best described as a(n)

(1) fact-centred learner
(2) teacher motivated learner
(3) assessment-centered learner

(4) intrinsically motivated leamner

Children  in
satisfaction ftom being allowed to
They ’
when they are discouraged. They do

pre-primary  get

discover. become distressed,

s0 due to their motivation to
(1) reduce their igﬁorance

(2) affiliate with the class

(3) create disorder in the class

(4) exercise their power

D
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24.

25.

26.

Understanding Human Growth and
Development enables a teacher to

(1)- gain control of learners’ emotions
while teaching.

(2) be clear about teaching diverse
learners. '

(3) tell students
improve their lives.

how they can

(4) practice her teaching in an

unbiased way.

Which one of the following is true ?

(1) Development and learning are
unaffected by  socio-cultural

contexts.

(2) -Students learn only in a certain

way.

(3) Play is significant for cognition

and social competence.

(4)  Questioning by teacher constrains:

cognitive development.

Which one of the foll(iwing is true
about the role of heredity and
environment in the development of a

_ child ?

(1)  The relative contributions of peers
and genes are not additive.

(2) Heredity and environment do not
operate together.

(3) Propensity is related to

environment while

development requires heredity.

(4) Both heredity and environment
contribute  50%
development of a child.

actual |

each in the
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27.

28.

29.

30.

So’ciéllization is

(1) Rapport between teacher and
taught

(2) Process
society

(3)  Adaptation of social norms

of modernization of

(4) Change in social norms

A PT teacher wants her students to
improve fielding in the game of
cricket. Which one of the following
strategies will best help his students

- achieve that goal ?

(1) Tell students how important it is
for them to learn to field.

(2) Explain the logic behind good
fielding and rate of success.

(3) Demonstrate  fielding
students observe.

(4) Give students a lot of practice in
fielding.

while

A teacher wishes to help her students
to appreciate multiple views of a
situation. She provides her students
multiple opportunities to debate on
this situation in different groups.
According to Vygotsky’s perspective,
her students will various’

views and develop multiple

. perspectives of the situation on their

own.
(1) internalize
(2) construct

-(3) operationalize

(4) rationalize

Sita has learned to eat rice and dal
with her hand. When she is given dal
and rice, she mixes rice and dal and
starts eating. She has eating
rice and dal into her schema for doing
things.

(1) Accommedated

(2) Assimilated

(3) Appropriated

(4) Initiated '

&)
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32,
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PART - II/ TRT— 11
MATHEMATICS / Tt

Perimeter of 'a square is 24 cm and
length of a rectangle is 8 ¢cm. If the
perimeters of the square and the
rectangle are equal, then the area (in

square cm) of the rectangle is

(1) 16
@) 24
(3) 32
@ 64

The difference of the place value and
the face value of the number 3 in
12345 is

1) o

2) 295
(3) 297
@ 305

Which one of the following is not
correct ?

(1) 56.7 kilogram = 5670 grams
(2) A cube has six faces.
(3) One millimetre = 0.1 cm

(4) 0.10issameas0.1
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(11) _ A
34. The speed of a boat in a river is 20 km 34, = ¥ U T w @ 20 o wfa er
per hour and the speed of another IR T g 1 w9 23 TR wfder
boat is 23 km per hour. They travel in tidgiTawmARwA =R
the same direction from the same % W W AR & | W A =Y uva
place at the same time, The distance mé;a’i‘aaﬁ@%
-between the boats after three and half
hours is »
(1) 10 f&t
(1) 10km :
: (2) 105 feht.
-(2) 10.5km :
(3) 11 .
(3) 1lkm St
@ 115 km (4)» 11.5 femi.
remainder is
. (1 3
1 3
, 2) S
2 5
3) 6 (3)_ 6
@ 7 ' @ 7
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37.

When a fresh fish is dried it becomes
1/3 of its weight. Sunita buys 1500 kg

fresh fish for ¥ 25 per kg and sell
them, when dried, for ¥ 80 per kg.

How much does she earn ?

(1) 72,500
Q) 2,700
(3) 3,000

4) 3,500

Look at thev following pattern :
@-1)+8=1
(98-2)+8=12
(987-3)+8=123

(9876 —4) - 8=1234

According to this pattern

 (987654—6) + 8=

(1) 12345
.(2) 123456
(3) 123465
(4 123467

12) .

36.

37.
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(1) ¥2,500

(2) 72,700
(3) ¥3,000
@) 3,500

foret nfaew =1 2faw
9-nH=8=1

(98-2)+8=12

(987-3)+8=123

(9876 - 4) + 8 = 1234

T AIE & AR
(987654 —6) + 8 =
(1) 12345

(2) 123456

(3) 123465

@) 123467

SPACE FOR ROUGH WORK / 7% %W % foig smie



38.

39.

750 ml juice is filled in one bottle and
six such bottles are packed in one
carton. The number of cartons needed

for 450 litres of juice is

(1 75
(2) 80
@) 9%
@) 100

Internal length, breadth and depth of

a (rectangular) box are 4 cm, 3 cm ‘

and 2 cm respectively. How xhany_

such boxes are needed to pack 8664

centimetre cubes ?

FOIES
(2 361
Gy 391
@) 722

13)

. ' | A
38, U atael ® 750 Tt S W A € o

39,

Uil 6 el B U HEA A Uk o T
¥ 1 450 witer @ & foU smavas wRA
Eak:ico1 84 |

Oy 75
) _8‘(;‘
3) 50 |
(@) 100

e it = s 4 /e, 3 A e
s At # | 8664 HSHieT wAl Y 4k FA

F fory Tt et Tl A1 SrETaEReT & 2
(1) 351
@ 361
(3) . 391
@ 722

“SPACE FOR ROUGH WORK / 7% &1 & forg s



40.

41.

— 3%
.

“Write the -equivalent fraction of 3

The above question asked to students

of Class IV refers to . _

(1) lower-level demand task as it
requires procedural skills only.

) lower-level demand task as it is
based on memorization only.

(3) higher-level demand task as it is

with

based on  procedure

connection,

(4) - higher-level demand task as it is

based on procedure without

connection.

Students often make a mistake in
comparing the decimal numbers. For
example 0.50 is larger than 0.5. The
most probable reason for this error is

(1) lack of practice of these types of
questions in the class. '

(2) lack of concrete experience of
representation of decimal number
on number line.

(3) careless attempt by the students.

(4) . misconception regarding the
significance’ of zero in ordering

decimal.

(14)

41,

40. ‘% %waﬁr@\r "” FEIV &

frnfeidgprmaragwEm @

MTEFAFTAE |

(1) Fra wig dmed, @it o
¥ UEHORRI @i @
e g &

(2) o Wiy Wmww, ite a8 Fa
AWIAMREE

(3) I Wy umed, wie 9%
AT & Wy yRear o emafiE ¥

(4) = wilg Hined, ke gaeE &
fom whier ot amanfia &

wra. feremell Temiea weme W g §
Afe w1 e & fow 0.50, 0.5/
31 ¢ | W T 7 watfuw dwifaw wror
R E

(1) 0 H 3§ WBR & Jaen & anary
A9 |

(2) &N @ W IEAT W& & freaur
% T S H AV |
3) ol gry oovEmt svaaT |

(4) i qvmHe | ¥LF W W @
e st s |

SPACE FOR ROUGH WORK / 7% %/ & fer s



42. A teacher prompts the students to
prepare. Mathematical journal with
the theme “Application of
Mathematics in Daily life”, This
activity is
(1)  to test the students understanding of

Mathematical concepts.

(2) to provide opportunity to students
share their ideas and knowledge.

(3) to help swdents to sense of
Mathematics.

(4) to help students to connect
Mathematical concepts and its
applications and to share their
knowledge and ideas.

43. According to Van Hiele level of
geometric thought, the five levels are —
visualization,  analysis, informal
deduction, formal deduction and
rigour. Some polygons are given to a
child of Class III for sorting.

He classified the polygons on the basis

of the number of sides. This child is at
i o level of

Geometrical thought

(1)  Visualization

(2) 7Analysis

3) Informal deduction
GY) Formal deduction

Van-Hiele .

(15)

A
42. T Ty fenfaat =t 3w e o
nftra & fowa & wma nfridtg
A (afreT) daw w3 & fav agrar dar
T | TE nfafafa &
(1) foenfaal =t oy deeaat @t
TR AT |
(2) 3 T R TS H G BA K
foau frerfadt =t smwr e
AT |
(3) Tifvrer it woEr o frenfaal =t wemEar
czcill
(4) "heE  deewel IR TS
FEmt ¥ ey dem o et
A aw faard @ e sE o
Ferenférat =t e w0 |

43. A @t & valhdg AR % ' %
FTER Ut w0 § - gy, e,
AT e, sftganfas frme s
gl (rigour) | HET [ % TH oo &l

Eabaus e voit s ST
]

A A SN0
aggmaﬁﬁﬁ@m‘iﬂ?mwwa@a’i
Wl aEE AT ¥ | qE F= A e
et faam & WY
(1)  =mstenor
2 fawosor
(3) e e
(4) siwanfie FHms

. SPACE FOR ROUGH WORK / T% &/ % fo1@ svie



A

44.

450

A child displays difficulty in
differentiating between numbers,
operations and symbols, two clock

hands, different coins etc. This implies

that the specific barrier affecting his.

learning is

6y

poor verbal, visual, auditory and

working memory.

poor visual processing ability i.c.

(2)

visual  discrimination,  spatial

organization and visual

coordination.

(3)

. i.e. expression, vocabulary and
auditory processing.

@

writing skills.

NCF 2005 emphasises on Constructivist

Approéch of learning as it focuses on

(M

memorization of definitions and

formulae.

(2) submission of regular homcwéri(;
(3) active participation of learner
through engaging activities.

(4) effective lecture and instruc‘tions

by teacher.

poor language processing :;1bi1ity‘~

"poor motor :;kills,‘ reading and

(16)

44;

-

45,

) ¥ ) e, vy ferant anfiy & sier
A W HfAY weii|m s &1 gEr
frfgard & i ot fafire st oo @
Fywfaa e @ § 28
(1) o wi=w, <, 51 S
wrRIBR wfq |
(2) AR AGIIHH A, S -
RN FEE
(3) HHSI WIST weRHOT dhmer S -
(4) HESAR i Hiv, T AN fera
St
T UTag=a! &t FUIEn 2005 Aferm 3
TEAER UM U 9 21 ¢, FifE 98
_ wHmmE
(1) oftamratt ok T #t 9 w6
(2) frafa ewd s e
(3) it & witre @ gu fenférat
&I iepg wpiRIE
fom g1 oA IR BiR

(4)
‘ : ,

SPACE FOR ROUGH WORK / T& %14 % for srrer



46. Following are array diagram using
bindis to represent 15.

oool [00000][]
000/ |0000O0 8
ooo| 00000l
000 S
008 g
[C006006006000000] ||
| 0
O

3

o

O

The way of representing 15 or any

other number in the above manner

can be used to teach concept of

(1)  area and commutative property

(2) commutative property of
fnultiplication, identification of
prime and composite numbers,
area of rectangle

(3) representation of a number as
product of ‘two  numbers,
commutative property of
multiplication, multiplicative

identity, identification of prime

and composite numbers, area of
rectangle using units quantity

(4) representation of a number as -

product of two  numbers,
commutative property of
multiplication, multiplication
identity, identification of prime
and composite numbers.

an ' A
46, Frfofem fafai =1y s gr 15 A

WSS (A A1 HTMAA (array) INT &
coo] [0000O0]|[]]
oo0o0| [0000O0 8
coo| [00000]|[3
ooo| ° S
000 9

o
[060000606000000] |S
o
O
O
o
O

15 3rerar g fdt WeE ) wefiE we
* 9w T B = wHE
wH ¥ fau T fF AT wEar ¥

(1) &% IR gt v

() TR H TEE YR, FNT T
W W@ @ O, S W
BEL T

(3) « dEmel & IUR ¥ w9 A
& =l WS #, oM @l Hadt
THd, Tow sfer, s sk
T WEA ! WA, S JhE
T T A G G A STEA

(4) < dEmet & IR b T A Th
WEAT  WEYH, YO W Fudt v,
TH sifamr, sww ST W
e #t wwar

SPACE FOR ROUGH WORK / T® &1d & {0 s17e




A

47. Which of the folloWing questions is
open-ended ? ‘

48.

(1)

@)

(€))

*

Write the numbers 25, 71, 19, 9,

8, 17, 85 in ascending order.

Which is more ?

F~3

or

[FS R
(¥}

Write any four number greater
than 2.7.

. 2
What is 7 more than 7 ?

The most appropriate tool to expose

the students of class II to plane

figures, its vertices and edges is

(1)

@

®3)

)

Geo-Board
Nets of 3D solids
Cubes

Black-board surface

as)

47.

. 48.

o § | S-91 g1 3 awen 5=
T2
(1) 725, 71, 19, 9, 8, 17, 85 W&AN
e sy o fafaw |
(2) wHWTGE?
1.7
395
(3) 2.7 Q93 HE IR TN @ |
4) %%ﬁ.ﬂm T ?

T % L et
% wat A fEant ¥ ufve w0 w5
AW I99 IUFTOT Y ’

(1)
®
(3)

C)

fapit g
3D wiferew ¥ e

Tt

F=

TIH-Ug A

SPACE FOR ROUGH WORK / T% %11 % {0 s



49.

50,

Q)

- Which

Following is a problem from text book
of class V :

“There are 4 poles of measure 105 cm,

215 cm, ]5¢ cm and 235 cm
respectively. If they have to be cut into
pieces of equal length, what is the

maximum length of each piece ?”

" This question is asked to

(1) test knowledge of factors and
multiples ‘
(2) check the skill of finding HCF
(3) enhance problem solving skills
. using learnt concepts
give practice of word '})roblems.

based on HCF and LCM

Following is a problem from text book
of class II1 :

“Which mathematical operation will be
used to solve the following problem ?

A milkman sold 1410 litres of milk in
10 days. How many litres of milk did he
sellin a day 7”7

competence of Bloom’s
cognitive domain is referred in the
above question ?

(1) Knowledge

(2) ~ Comprehension
{3) Analysis

(4) Synthesis

- (19

49,

- 50. .

A
frfofas wa v %t @ EE A A U

qAAT :

“7t 4 @t & ot 7T L. 105 WA,
215 @41, 150 @ Fem23s @A & 1 AT
77 G g & gwal & s ¢ at wdw
g F] aiferm s o i) 7
TR wfewysrmard

(1) Tor & OISt 3 T A T

(2) TUEUE T B F P B AT
(3) HiEl T GepeaieAt T UEIT S §T
[OE WM HIe Y ag
Tt @ ween WX s

- GHES T NI

4

Fraafafas Fan m # oRE-gEw § @
Wm%‘

“Preferfia @ # g7 wv & g
T ?

TF UETrT 10 T & 1410 Few gu dwar
& 1 77 U 17 & A efter g aar 77

| I WA § R ¥ AT A #

frazaar s AW EHAT T 2
(1 =

@ A

(3) favduo

(4) . TEgOT

SPACE FOR ROUGH WORK / % & & {0 wrtg




52.

Rashid is studying in class V. He can
classify various types of triangles in
different categories but has difficulty
in understanding the abstract proof
for the sum of three angles in a
triangle to be always 180. According

to Piaget Cognitive Theory Rashid is’

at

(1) ~ Concrete operational stage
(2) Formal operational stage
(3)  Sensorimotor stage

(4)  Pre-operational stage

According to NCF 2005

“Developing children’s abilities for
mathematization is the main goal of
mathematics education, The narrow
aim of school mathematics is to develop
‘useful’ capabilities.”

Here mathematization
develop child’s abilities
(1) In performing all number

operations efficiently including of
finding square root and cube root.

(2) To formulate Theorems of
Geometry and their proofs
independently. '

(3) To translate word problems into
linear equations.

(4) To develop the child’s resources

to think and reason
mathematically, to pursue
assumptions to their logical

‘ handle

conclusion and to
abstraction. :

refers to

(20)

51.

52.

e HM VA ugar ¥ | aE A= ywr F
gt @t fo=r siforat & i Y we
¥ wfe e & wft Yo = ghT 180 FA
¥ - & gy 5 wHgH I HoAR
gt & | st % dmEe fagia &
AW ANE _ WOWE |

(1) ¥ e HAae

(2) fTeiie Sk el

(3) TR sTae

(4) vE-wfpaTcHe e

T AEI=AT Tt TG 2005 ¥ FTAR

“TfUIT H7 FTET HT JET ITVT TeI BT
TTAIHTUT &7 Gaareit &1 fawEr Fear
g | &gt T FT T ey # -
ETHIE SHAI3IT T [FHe [

TET TR T @ Tt

FlEEFTR F AT EFT @ |

(1) aiger o u9qe Ferert |fed o
T Siwaatt & marel (AR @t

() WET ¥ ® Wihdg wugt @
Frequr 3T e TouT S @y

(3) v=gwEns & YdE we |

e H @

(4) THHROET F SHE qlEEd T &
CENICE] aﬂﬁaﬁTw_' T G
F % fou o w9 7 faaw 3w
e & ged o GargA! @ f[GH HH

SPACE FOR ROUGH WORK / T% &1 % faq wre



53.

54.

The highlights of a good textbook are
that

A.

(1
2)
3)

S

They contain

exercises to give rigorous

numerous

practice.

All concepts can be introduced
through situations.

Only solved examples are

included.

They must be thick and heavy,
A and B -

Cand D

Aand C

Band D

NCF 2005 emphasises that

1)

@
)

@

Succeeding in  Mathematics
should be mandatory for every
child.

Students should be tested first for

their logico-mathematical ability.

Maths  curriculum _'shall be

separate for low achievers.

Maths shall be taught to selective
students.

2

53.

54.

W

A

T =31 vy &t fafireant €

F I weR AW A & A aga
AR A T |

g feufaat & mem | 9t deeasman
Fufrg e s wsaT

q. FIe g 5T T anaw @ wfae
o

T IR AT W O AEvaE o
qawT

(2) wauT

(3) Faud

(4) Faag

LT urgEEAt F W@ 2005

WaATA T |

(1) it ¥ awedr Yo 9= & fag
HEITH ¢ |

(2) Temaferit i afssforiy Fraw &
fou veat 7! wher g Tt

(3) F= mﬁfaﬁﬁmaﬁ % foao mftra.
IEERt AT it

@) T =EtE Rmufet @ e

s

 SPACE FOR ROUGH WORK / T% &1 & foq s



A (22 C ' |
55. The difference between the smallest 55. 5, 10 IR 35 & WA I A AT

common multiple and  biggest TR 93 HAUHEE BT AR T
common factor of 5, 10 and 35 is
a) 30
1) 30
2) 35
2 35
' (3) 65
G) 65
). 75
4 75
56. The number of factors of 105 is 56. €EAT 105 % UHGEE F ERTE
(1 3 1 3
2 4 : 2 4
3 6 - - @ 6
(4) 8 - @4 8
'57. If the time now is 2.17 P.M., what will | = 57. 9f% ®9% 3% 217 PM. ¥, 7 o @ S
" be the time 11 hours and 59 minutes 11 6 3T 59 fie & uvama w4 9
from now ? 2 _ .
(1), 11.57AM. | () 11.57AM.
2 9:59AM. - 2 9:59AM.
(3) - 216 AM. (3) 216 AM.
4 217AM. ' @ 217AM.

SPACE FOR ROUGH WORK / T& &1d & fw sme




58.

59.

60.

Number of degrees in three and one

hglf‘right angles is
1) 285
@) 295
(3) 305

@) 315

11 ones + 11 tens + 11 hundreds
equals

(1) 144
@ 1221
@) 12321
@ 111111

The sum of five hundred nine and
three thousand twenty eight is

(1) 3537
(2) 3087
(3) 837
(4 387

- (23)

A

58, W A e fefirat = e

(1) 285
@. 295
3) 305
@) 315

59. 11 gHTEAl + 11 g1AT + 11 Vg aTaT
¥ .

(1) 144
@) 1221
(3) 12321
@) 11111

60. . dter®t =t afiv i TR sERE AT

(1) 3537
@ 3087
3) 837
4) 387

SPACE FOR ROUGH WORK / Y% %14 % forw smg



61,

62.

63.

- (24)

PART - III/9TIT =111 . _
ENVIRONMENTAL STUDIES / UaTavuT e1eqq

The name of the scientist who first
peeped into a mosquito stomach and
that
malaria and for his research was

proved mosquitoes  spread

. awarded Nobel Prize in medicine in

December 1902 is

(1) Charles Darwin
(2) Gregor Mendel
(3) George Mistral
(4) Ronald Ross

Rajat said to his friend, “I cannot play
because I am down with fever. I pass
through a cycle of shivering, fever and

headache and finally sweating. After .

my blood test doctor prescribed me a
bitter medicine.”” Rajat might be
suffering from

(1) Typhoid
(2) Diarrhoea
(3)  Cholera
(4) Malaria

Who was Al-Biruni ?

(1) A Qutabshahi Sultan whd ruled
- our country for about 40 years.

- (2) A trader from Afghanistan who
came to study the dryfruit markets

of our country.,

(3) A traveller from Uzbekistan who
wrote’a book which is helpful to
know the past of our country.

(4) A traveller who travelled from
Kashmir to Kanyakumari to study
the culture of Indian people,

61.

62.

63.

3 Awfaw & ¥ AW ¢ fAms weney
RV & U & MY A- i & AW g
fag fem fip watfiar wiow 9 %o & o
W R & fow fmww 1002 #
fafirear & e & Fieer Qe faar ma
(1) =7t St
(2) WK dsA
(3) =it firge
@ S

IR A A0 firr & v, «F 7 Wt wewew

Fite g7 gEw ¥ 1§ $udd, gEw,
faed iR sim A wdllr s F ow |
W§ | T B W F g I
TR T gl T @ 1 o e @
difsaat awar ¥ e '

(1)  Frem gar
(2) afaEr
(3) &

(4) wafaEr

et w2

(1) =€ U Hqowmel geam a1 faem
AR [ F wHT 40 aF A
fomam |

(2) OF FEERAE F TH S o A
AR 2w A Aa % SR o sreae
H AT AT |

NG #aﬁmmmﬁm,ﬁﬁm

forame forglt =it & 2w % sfew &
, TRAAHATEAFY |
(4) o TF et a1 fas ura & it @)
HEH T B & AT FHeHie
W FHRATHHAR T I 0T Y |



64.

65.

66.

67.

The animals that are awake at mght
can see objects

(1) 1inall colours

(2) only in black and white colours
(3) in green colour only

(4) inred colour only

Select the correct statements about

elephant herd :

A. An elephant herd has mainly
females and baby elephants
upto 14-15 years old.

B. An elephant herd comprises
members of a particular family.

C.  The oldest female is the leader
of the herd. , ‘

D. An elephant herd may
accommodate any’' number of
female elephant and the young

ones.
() AandB
(2) AandC
(3) BandD
(4 CandD

Inside the petals,. in the middle of a
flower we find a thin powdery
structure, called - ‘

(1) Anther
(2) Pollen

(3) Radicle
(4) Stigma

If you go te Ahmedabad (Gujarat) by

train, then at Ahmedabad railway
station you will find that most of the
vendors are selling

(1) Dhokla with chutney and lemon
rice

(2) Chholay-bhature and lassi

(3) Idli-chutney and Vada-chutney

(4)  Puri-shaak and thanda doodh

(25)

64.

65.

66.

67.

TH ¥ AT G AaT 8 e ®t
() WEOA@ IR E

@) Faet el A wAR A dE
() FARTHA@THFIE |
(4) 9 oA TTH 3@ WA § |

TGt & e & W ¥ ¥ v W

e
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415 HFTRAEAE

B Tl ¥wwasd el owr @
TarH e ¥ |

C. e wad Pl duRt @ W Hw
FNAAT e &

D. UF g5 # ghafml ot weat #
we freeft it w0

() ATHB
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@) B®D

(4 CaaD

TGEE & IR, A & da § F uAen
;m:ﬁvﬁmﬁmﬁ?ﬁfﬁ#m
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() wm

(3) Wi
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68,

69,

70.

&

The birds move their neck very often
because

(1) theycan fly.

(2)  the birds eyes are fixed.

(3) the birds have small eylfes.

(4) their ears are covered with
feathers. '

After diagnosis a doctor says to a
patient that there is less haemoglobin

in his blood. Which of the following

should he eat to make up the
deficiency of iron ? :

(1) Rice, sugar, amla

(2) Green leafy vegetables, wheat,
orange

(3)  Jaggery, lemon, pea

(4) Amla, green leafy vegetables;
jaggery '

National Curriculum Framework,

2005 strongly ' recommends that
teaching of EVS at primary stage

, should primarily aim at

(1) developing understanding of basic
’ concepts of the subject.
(2) memorizing basic principles of the
subject. ‘
(3) linking classroom learning to life
outside the school.
(4) acquiring skills to carfy out’

‘experiments independently.

- (26)

68.

69.
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vt ol A wgw afuw frend
TAFHT RO &
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71.

72.

73.

3

- Which one of the following is mot

-consistent with the requirements of
EVS curriculum at primary stage ?

(1) It should equip the learners with
~ knowledge and skills to enter the

world of work.

"It should inculcate in learners a
concern for environment.

@

It should engage leamners in
acquiring methods and processes
leading to generation of new
knowledge.

(4) It should suit cognitive level of

the learners.

Higher priority and space has been
given in NCERT textbooks on EVS to

(1)

explain basic concepts of  the
subject.

provide opportunities to learners
" for contemplation and wondering.

@)

provide -exact definitions of
technical terms. -

&)

@

questions.

Which one of the following is not an
objective of including poems and
stories in EVS textbooks ?

o)
2

To develop interest in the subject.

‘To have a change in routine and
monotonous content.

To provide fun and enjoyment for
learners.

@A)

To promote imaginative and
creative ability in the learners.

@

include large number of practice

@n:

71.

72.

73.
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74.

75.

76.

@ it

- Good EVS curricalum should be ‘true

to the child, true to life and true to the

subject.” Which of the following

characteristics of a curriculum does

not meet the above requirements ?

(1) It promotes the value of freedom
from fear and prejudice.

(2) It requires the learner to view the
subject as a social enterprise.

(3) It emphasises more on processes
of teaching and learning.

(4) It emphasizes more on terms and
definitions.

, Nalini wants to introduce the topic on
‘Animals — our friends’ to Class III -

students. In order to intreduce the

topic more interestingly, the best

teaching strategy would be to

(1) use a chart showing pictures of
different animals.

(2) draw pictures of different animals
on the blackboard.

(3) show a video film on animals.and
their usefulness. - _

(4)  ask the students to see pictures of
animals given in the textbook.

Class V. NCERT EVS textbooks

include a section ‘what we have

learnt’ in the end of every chapter. It.

is suggested that answer to quéstions a
included in this section should not be - -
assessed in terms of right or wrong, -

This shift has been done because
(1) children cannot

answers at this stage.
- enhances
teachers in assessment.

convenience  to

(3) it helps the teacher to know how

- children are learning.
@) it subjectivity  in
assessment.

reduces

~write correct

(28)

74.

75.

- 76.

‘wmawmaﬁqa;am‘immﬁﬁ
<t & ufd W&, vﬁaa%uf%tﬂéiaﬂ'r
fawa & ufe =t wn afew v reaat

# Prfefad Fotwarat § & = W@

I ATATIHAT Bt YA He HeAt 7

(1) 9% 99 Td qammel § 9 8 & I
HLEGETRAE |

(2) g% foaug #t v amierE wh & &
¥ @R & o ferenfemt & smovaes
T

(3) @ Tmorafirmufen w o

. kil

(@) T vt iR et wostie

TAMME |

Afert wem % fRrenfiml & AR
THR Y yaeuT / uRfaa SO S
T | gt t ot arfuw Taw a0 |/
e T By PreRE R

w gt watfus suga el 7
() fafa= sTert & foslt =t wefem &3
A TR T T HET |
@ fafas s % fat @ vamuee W
ST |
(3) e @ e W W
s frew wsfera &7 | :
(4) Fw | wer-Ras H THE &
ey fet it S % ferw e o
HE OV F WWITIARA H wmiaor
- eI H UIGE-YFH W UlE IS ¥ I
. duwdew wiw e g -
o am Y ag g T d e s ww A
- y0fie WYt % 3O T WE A1 e & w W

E & srher @ e wom | a7 uiEd

 ufer feit man &, it

(1) T wR W T @ s A e
Tt |
) ggmﬁﬁmaﬁaﬂgﬁmmr
I

@) TR e ) we

Gk niiicked o

A(4) TE AEET o fowaiassdar & &

FAE |




77‘

78.

Experimenting, Exploring, Investigating

_and Questioning constitute essential
"“elements " of active learning of EVS. A

teacher arranges the following activities
related to the concept of ‘Food we should
eat’.

(1) Draws the diagrams of all such
foods on the blackboard.

(2) Gives examples of different foods

each in essential components of

food.

(3) Asks students to collect related
information from all possible

sources.
(4) Shows a video on the topic. °

Which one of the above four activities
satisfy the condition for active

learning ?

While teaching the topic on ‘Air is
everywhere’ to Class IV students,
Gitika. plans to perform the following
activities:

(1) Take the students to a field tnp o

(2) Explain the .concept _throughl :

specific examples. -

(3)  Use multimedia capsule to explain
the concept. ' '

(4)  Ask probing questions related to
the topic. ' '

Which one of the above proposed
activities is not relevant for teaching
of the topic effectively ?

(29)
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79.

80.

81.

The section on ‘Do this and find out’
included in different topics in EVS
textbooks aim at :

(1) providing hands-on

‘experiences.

d{rect

(2) improving performance in

examination.

- (3) learning definitions of scientific

terms.

(4) keeping the students engaged at
home.

A good assignment in EVS should
primarily aim at

(1) revise the lesson for effective
learning. ‘

(2)  ensure better utilization of time.

‘(3) keep the students engaged and

disciplined.

@) prdvide extended learning
opportunities . ‘

As an EVS teacher, the major

objective of organizing a field trip to a
zoo should be

(1) to provide fun and enjoyment to
students.

(2) to have a change in monotony of
routine teaching schedule.
learning

(3) to " active

experience to students.

provide

(4) to satisfy parents on quality of
education. '

(30)
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82.

- 83.

84,

Which one of the following is not an
objective of study of EVS in relation
to Social Sciences ?

(1) It should enable children to

question the existing ideas and
practices.

(2) It should enable children to grow
up as rtesponsible member of
society.

(3) It should enable children to
respect differences of ~cultural
practices. '

(4) It should enable children to learn
correct definition of key terms.

Kavita wants to emphasise more on
social issues like poverty, illiteracy
and class inequalities in an EVS class.
Which one of the following learning
experiences will be more effective to
achieve this objective ?

(1) Organising special lectures on

related issues.

(2} Asking the students to prepare
charts on related social issues.

(3) Asking the students to undertake
group projects to collect and
analyse related information.

(4) Asking the students to write
slogans on related issues.’

Fdrmati've Assessment in EVS at
primary stage does not inclnde

(1) identification of learning gaps of
students,

(2) identification of deficiencies in

teaching,
(3) enhancement of students’

learning.

(4) grading and ranking of students.

82.

83.
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85,

86.

Select

Given below are some human

activities &

A. Digging of mines.

-B.  Constructing dams.

C. Collection of leaves and herbs to
sell them in the market.

D. Weaving baskets from bamboo.

E. Making leaf plates out of fallen |

leaves.

The activities responsible for the
disappearance of forests is/are

(1) onlyA
(2) AandBboth
(3) A,BandC

(4) B,C,DandE

4

correct statements 'about_

Bronze :

A, Bronze is an element like iron,
silver and gold.

B. Bronze is made on melting

copper and tin.

C. Bronze is very strong and is
used in ‘making cannons and
statues.

" D. The utensils made of Bronze are

lighter and stronger than that of

aluminium.
(1) BandC
(2)7 .Cand D
(3) DandA

(4) AandC

(32)
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87.

88. .

89.

90.

. (2) First towards

A person living
(Gujarat) wants to visit first Bhopal
(Madhya Pradesh) and then
Hyderabad (Andhra Pradesh). The
directions of his journey will be
(1) First towards East and then
towards South
West and then
towards South :
(3) First towards
towards West
(4) First towards South and then
towards East

South and then

On a city map it was mentioned
“Scale 1 cm = 110 metres”. If the
distance between two localities on the
map is 15 cm, then the actual distance
between the two localities is

(1) 1165 centimetres

(2) 1100 metres

(3) 1500 metres

(4) 1.65 kilometres

Mount Everest is a part of

(1) India (2) Tibet
(3) Nepal (4) Myanmar
Study the  following duties/

responsibilities :
A. Help others in carrying their
bags.

-B.  Let the group follow you and -

keep at the front.

C. Ask those to stay back who
cannot climb properly.

D. Look after those who are not
well and arrange food for the
group.

E. Find a good piacé to stop and

rest, ,
Which of the above are the
responsibilities of a group leader in
mountaineering 7

(1) A,BandC
(2) B,CandD
(3) C,DandE

(49) A, DandE

in Gandhidham -

(33)
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(34)

Candidates should answer questions
from the following Part only if they
have opted for ENGLISH as
'LANGUAGE -1I.
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Directions :

|

(33)

PART -1V

LANGUAGE -1

Read the given passage and

answer the questions that follow

(Q. Nos. 91 to 99) by selecting the most
appropriate option :

Why do poets use poems to tell about
social injustices ? The answer is simple.
‘This way a poet can catch and hold the
his/her
Usually poets in their works present

reader’s attention, emotions.
facts in order to capture attention of
many people. These are nof_ new facts
that are presented to an audience. Poems
are always aimed at reaching feelings of
thus, 7
Literature of every staté shows all the

people and, pulling  strings.
complexity of every epoch. When the
situation is the same at several countries,
it has a worldwide significance. Before
talking about poetry, we should answer
the question : What is poetry ? Poetry is
a special way of describing situations,
things, .ideas, feelings. Poets present
their ideas in short phrases.

A poem can be compared to a

photograph as it reflects real life, real

situations and feelings. In a poem a poet

captures the exact moment and
represents it the way he/she has seen it.
"When you read a poem you see the
poet’s subjective eva]uatioh of facts,
sitﬁations and the epoch in general
Poets of the Romantic Movement wrote
their poems to share their feelings. They
wrote to help people understand their

time from the poet’s point of view.

ENGLISH

91.

92.

93.

9,

A poem reflects the culture of the

(1) period it belongs to

(2)  historical past
(3) imaginary life
(4) present only

Here, the expression ‘pulling strings’

means
(1) challenging beliefs .
(2)° promoting popular notions

(3) secretly controlling thoughts

"(4) exerting strength

A word in the passage which means a

quality of being intricate is

(1) general
(2) - photograph
(3) complexity
@ evaluafion

Romantic Movement is a literary
period when the poetry mostly

(0

is religious and philosophical

(2) dealt with the supernatural and
violence

(3) focused on ‘selfreliance  and
independence

(4) emphasised on emotion and

‘imagination




96.

97.

98,

99,

The structure of poetry is usually

characterized by

(1) sequences of two or more words
without an *action word’

(2) long winded sentences
(3) lengthy descriptive stanzas
(4) short, factual stanzas

An example of ‘subjective evaluation’
is

-'(1) Everybody likes dishes prépared

with potatoes.

(2) The potato is a staple in some
countries.

(3) There are over 25 types of
potatoes around the world.

(4) The potato has a large percentage
of starch content.

The meaning of the word ‘époch’ is a
(1) lengthy, complex poem

(2) typeof 'literary work in England
(3) distinctive point of time

(4) being great and impressive

The purpose of poetry is to
the reader.

(1) distract

(2) appealto

(3) disturb
4) confuse

The themes of poems are usually
about

(1) everyday happenings

(2) heroism and death
(3) romance

(4) important life events

(36)

Directions : Read the given poem and answer

100.

the questions that follow (Q. Nos.
100 to 105) by selecting the most
appropriate option.

Between the Miles
Because existence can become severe
in one day,
just sense me and 'l be there.
In the mind’s eye,

I’'m not so far away.

If you hold out your hand,

in the-whispers,

I’ll become the zephyr...

and besiege you.

If your eye’s upon the stars,
in the crystalline darkness,
I’ll become the moon.

And the light shall guide you.
If you rest upon the ground,
in the warmth,

I’ll become the grass.

And embrace you.

If you turn outside,

in the wetness,

I'll become the rain. .

An upon your forchead, kiss you.
If you free the air,

in the light of day,

. I’ll become the sun.

And smile for you.

Between the miles-
if you need me.
If you need a friend.

. Let me be the friend, I want to be. -

Heather Stoop

“The zephyr’ is a

(1) fine quality of cloth
(2) scent or odour

(3) strong stream of air

(4) gentle, mild breeze




101.

102,

103.

104.

105.

()

An example of a metaphor is

(1)  T’ll become the grass.’

(2) ‘Between the miles’

(3) ‘Iwanttobe.’

(4) “If you rest upon the ground’

A synonym of the word ‘besiege’ is

(1) surround

(2) attack

(3) befriend

(4) trap

The theme of the poem is about
(1) separation

(2) relationship

(3) travel

(4) nature

The “crystalline darkness’ suggests
that surrounding is ‘
(1) black and sombre

(2)  in the moonlight

(3) lit up by the stars only

(4). pitch dark and quiet

In the poem, the poet suggests that
friendship is unaffected by '

(1) individual independence
changing feelings

(3) . time and distance

(4)  differences in attitude

Directions : Answer the following questions by

106.

selecting the most appropriate -

option :
A learner’s competence in English will
improve when she/he receives
of ° learning
appropriate.
(1) anequal level
(2)  aslightly higher level
(3)
4

experience that s

arange of levels
a slightly easier, lower level .

37

107. A ‘niental block® associated with

- 108.

109.

110.

111.

English language learning is

(1) interest in Sports and Arts.

(2) disinterest in studies in general.

(3) lack of opportunities to use
English.

(4) dyslexia-a disability.

A company labels its frozen smacks
75% fat free rather than contains 25%
Jat so that people will view them more
positively. This is an example of a

(1) prototype

(2) phoneme

(3)  subjective utility

(4) semantic slanting

When children first start to speak in
sentences, their speech may be
described as

(1) babbling

(2) exceptionally soft

(3) telegraphic

(4) multi-lingual

Which observation supports Noam
Chomsky’s ideas about language
acquisition ? :

(1) Children’s language development
follows a similar pattern across
cultures.

(2) The  stages of  language
development occur at about the
same ages in most children.

(3) Children acquire language quickly

’ and effortlessly.

(4) All of these

What is the system of rules that

governs how words can be

meaningfully arranged to form
phrases and sentences ? '

(1) Language

(2) Syntax

(3) Morpheme

(4) Phoneme



A
112.

113.

114.

115,

116.

A twelve-year-old child enjoys using
puns. This enjoyment indicates that
she has

(1) semantic slanting

2) * deductive reasoning

(3) mental blocks

(4) metalinguistic awareness

Did you really the money
yesterday ?

(1) knead

(2) kneed

(3) need

(4) needed .

You don’t smoke, ? [tag
question]

(1) have you

{(2) areyou

{(3) doyou

{4) don’tyou

A “critical period’ during language
learning is o
(1) the period during which language

can be acquired with greater ease
than any other time.

(2) the length of time before a
comprehensive _assesSment - takes
place in class.

(3) best. preparatory penod for any
language project. :

(4)  special time set aside for students

to intensively practice language
use.

The two skills required to take notes
effectively are

(1) using symbols and abbreviations
instead of words.

(2) re-writing a text, using your own
words.

(3) writing legibly with correct
punctuation.

(4) writing fluently, = using

conjunctions.

(38)

117.

118.

119,

120.

Remediation, when students find
difficulty in the wuse of different
‘modals’ would be for them to

(1) be given ample practice in using
modals in a set of sentences.

(2) frame sentences on their own and
teacher corrects them.

(3) learn about the structures outside
the classroom through suitable
activities.

(4) practice by collaboratively

completing tasks where structures
are used integratively, in a variety of
real life situations.

What is wrong with the following
multiple choice question ?

Tick the most appropriate :

The Metro theatre is located

Lodhi Road. .

(a) over (b) at

(¢} beside (d) behind

(1)  All answers are wrong

(2) Two are wrong

(3) The statement is not correctly
framed

(4) “Over’ is the correct answer

Receptive Language skills are

(1) using grammatical structures
accurately.

(2) writing in a range of styles.

(3) listening and reading for
information.

(4) being able to self-correct while
using language.

The ‘Natural Order’ in the process of

learning English  suggests that,

children

(1) are slow at learning to speak when

~ not in school.

(2) leam to read and write
simultaneously. '

(3) are able to speak first and then
listen.

(4) acquire some language structures

earlier than others.
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Candidates should answer questions
from the following Part only if they
- have opted for HINDI as

LANGUAGE -1.
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Candidates should answer questions
from the following. Part only if they
‘have opted for ENGLISH as

. LANGUAGE - II.
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Directions :

LANGUAGE -1I

Read the given passage and
answer the questions that follow
(Q. Nos. 121 to 129) by selecting the
most appropriate option.

The fossil remains of the first flying
the

intrigued paleontologists for more than

vertebrates, pterosaurs, have

two centuries. How such large creatures,

which had wingspans from 8 to 12 '

metres, solved the problems of powered
flight, and exactly what these creatures
were-reptiles or birds — are among the

questions scientists have puzzled over.

Perhaps the least controversial assertion
about the pterosaurs is that they were
reptiles. Their skulls, pelvises and hind

feet are reptilian. The anatomy of their

wings suggests that they did not evolve.

into the class of birds. In pterosaurs, a
greatly elongated fourth finger of each
like

membrane. In birds the second finger is

forelimb supported a wing

the principle strut of the wing. If the .

pterosaur walked or remained stationary,’

the fourth finger and with it the wing,

could only turn upward in an extended

inverted V-shape alongside of the
animal’s body. Both the pterosaurs and

the birds have hollow bones, a feature

that represents a saving in weight. In the

birds, thése bones are

reinforced more massively by internal

struts.

however,

(45)
PART -V

ENGLISH
3.

121.

122.

123.

Although scales typically cover reptiles,
the pterosaurs probably had hairy coats.
The recent discovery of a pterosaur
specimen covered in long, dense and
relatively thick hair-like fossil matenal,
was the first clear evidence that this
reasoning was correct. Efforts to explain
how the pterosaurs became air-bome
have led to suggestions that they
launched themselves by jumping:from
cliffs, by dropping from trees, or even by
rising into light winds from the crests of
waves.

The skeleton of a pterosaur can be
distinguished from a birds by the

(1) sizeifits wing span.

(2)  presence of hollow bones. .

(3) hook-like projections at the hind
- feet.

(4) the anatomy of its wing span.

Which is the characteristic of

pterosaur ?

(1) They hung upside down like bats
before flight

(2) Flew to capture prey

(3) Unable to fold their wing fully at
rest

(4) Lived mostly in the forest

The elongated finger in the
supported the outstretched wings.

(D ’pterosaurs
(2) birds
(3) both
neither | '

@
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124,

"125.

126.

127.

128.

129.

The body of the pterosaurs was
covered in

(1) feathers

(2) scales

(3) fur

(4) smooth skin

The pterosaurs flew by
(1) jumping off a mountain ledge
(2) pushed by wind before take off

(3) jumping upwards with force
(4) momentum gained by running
. A synonym for ‘compressed’, from the
passage is '
(1) launch
(2) dense
3) light
(4  strui

The opposite of ‘controversial’ is
(1)  questionable

(2) uncertain

(3)  debatable

(4) undisputed

It can be understood from the passage

that scientists believe that the

(1) large wings heli) pterosaurs to_ fly
great distances. '

(2) hollow bones

| evolved from bats.

showed they

(3) fossil remains explain how they
flew.

(4) pterosaurs walked on all fours.

Fossils often left scientists in doubt

whether the pterosaur

(1) ever existed at all

(2) how many lived at that pélr*iod
(3) their size and weight

{4) - their shape and gender

(d6)

Directions :

130.

Read the given passage and
answer the .questions that follow
(Q. Nos. 130 to 135) by selecting the
most appropriate option :

A man found a cocoon of a butterfly.

One day a small opening appeared. He
sat and watched the butterfly for several
hours as it struggled to force its body
through that little hole. Then it seemed
to stop making any progress. It appeared
as if it had gotten as far as it could, and it
could go no further. So the man decided
to help the butterfly. He todk a pair of
scissors and snipped off the remaining
bit of the cocoon. The butterfly then
emerged easily. But it had a swollen
body and small, shriveled wings. The
man continued to watéﬁ the .butterﬂy
d that, at

because he expected any

moment, the wings would enlarge and

expand to be able to support the body,
which would contract in time.

Neither happened! In fact, the butterfly
spent the rest of its life crawling around
with a swollen body and shriveled
wings. It never was able to fly. What the
man, in his kindness and haste, did not
understand was that the restricting
cocoon and the struggle required for the
butterfly to get through the tiny opening
were God’s way of forcing fluid from
the body of the butterfly into its wings so
that it would be ready for flight once it

achieved its freedom from the cocoon.

The man’s first instinct was
(1) leave the cocoon alone
(2)  help the butterfly

(3) leave the butterfly alone
(4) keep watching




131.

132.

133.

134.

135.

The natural process would have the

wings of the butterfly

1) . unfold and stretch out

r

(2) fold up and remain snug

-(3) half open and snug against the

body
(4) unfold and remain stiff

A word that means ‘to make or

become vyjthered’ is
(1) moistened
(2)- folded

(3) wasted

(4) shrivelled

The writer’s message in his/her essay

is about
(1) not to have any probiems

(2) need for struggles in life

.(3) ’escape pain at any cost

(4) needless struggles in life

The essay is in form.
(1) factual

(2) descriptive

.(3) discursive

(4) argumentative

A man noticed that the
(1)  butterfly was hidden
(2) cocoon was growing
(3) cocoon was moving .

(4) -butterfly was emerging

(47)

Directions : Answer the questions that follow

136.

137,

138.

by selecting the most appropriate
option :
The ‘bottom up model’ of curriculum
is one where

(1) learning is based on a set of
software to make curriculum more
learner friendly.

(2) the curriculum that allows
freedom for student mobility with

increased choice of curricular
activity and encourages learning
by doing.

(3) the learning process is geared
towards career orientation.

(4) a need-based distance education

with  indirect influence’ on
students.
The Humanistic  Approach s

specifically tuned to the

(1) mastery of academic disciplines
~ with all their characteristic features.

(2) application of learnt structure,
content, concepts and principals to
new situations.

(3) processes that enable students to
discover structures for themselves.

(4) process where sequence is taught
along with how to present the
related contents.

A ‘special needs language classroom’
is ideally

(1)  exclusively furnished.

(2) located separately.

(3) integrates all types of leamners.

(4)- has extra teachers to help regular
. teachers.
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139.

140

141.

One of the challenges of ‘Behaviour
Management’ in a senior class is

(1) students’
.smart board.

(2) student’s lack of self study skills.

(3) teachers’ preference to conduct

readiness to use the

group rather than individual work.

(4) teachers’ lack of self confidence.

To inculcate a
Attitude’, a suitable activity is the one
when stadents

(1) sang two popular songs and
exhibited some of their art and
craft works during the parent-
teacher meet.

(2) made modifications to their paper
planes and tested them. again,
experimented with the best way to
get them to go the distance and
shared their finding. »

(3) in groups created graphs about the
difficult situations that students
have had to face in life.

(49) managed to get the Principal’s
permission to go out and play

during the English period.

Asséssing reading at Class VII, can be
done most effectively throu-gh a

' the
and

(1) spoken quiz based “on

meanings of  words
expressions.

(2) written test based the characters
and events in the story/text.

(3) an oral interview to find out how

much they have read.

(4  writing a 50 word book/text

review as a small project.

‘Never Give Up .

(48)

142.

143.

144.

Curriculum development follows the
following sequence :

(1) Formulation of  objectives,
assessment of needs, sélection of

texts/learning experiences,
evaluation
(2) Selection of texts/learning

experiences, assessment of needs,
formulation of  objectives,
evaluation

(3) Assessment of needs, formulation
of objectives, selection of

texts/learning experiences,
evaluation
(4) Formulation of  objectives,

assessment of needs, evaluation,
selection of texts/learning
experiences

The learning experiences that offer a
vicarious experience to learners are

(1) real objects and specimens
2)
(3) display boards, film clips
C)]

abstract words, case study
" field trips, observations

In Computer Aided Instruction [CAI],
the ‘simulation mode’ is where learners

(1)  experience real life systems and

phenomena.

(2) receive bits of information
followed by questions with
immediate feedback. .

(3) a series of exercises  with ©
repetition practice.

(4) get problems which are solved by

a process of trial and error.



145.

146.

147.

148.

A ‘listening stimulus’ _ :

(1) - presents input to separate groups
of students who gather again to
share what they listened.

(2) presents an information ~ gap
activity such as giving directions.

(3)- s listening to a good commentary
to review it,

(4) enables students to discuss a set of
criteria which they prioritize to
complete and present a task.

The ‘interactional routine’ during

speaking assessment includes 2

(1)  negotiating meanings, taking turns
and allowing others to take turns.

(2) describing one’s school or its
environs informally.

(3) ‘telephone’ conversation with
another, B

(4) comparing two or more
objects/places/events for = the
aSSessor.

Retrieval skills in writing are

(1) note making and note taking

(2) diagramming and summarising
(3) abilities to do extensive referenc

work '
(4) organizing information -while
reading/listening

‘Awareness raising’ grammar - games

encourage students to

(1) think consciously about = the
structures they have leamnt. ‘

(2) collaborate in completing a given
_activity.

(3) engage and feel aboﬁt human' -

relationships while the teacher
controls the structures. -

(4) use structures to
communicate with one another
about a given theme.

learnt

(49)

149.. Language acquisition

(1) is the memorization and use of

necessary vocabulary

(2) involves a systematic approach to
the analysis and comprehension of
grammar as well as to the

memorization of vocabulary.

(3) refers to the process of learning a
native or a second language
because of the innate capacity of

the human brain.

(4) is atechnique intended to simulate
the environment in which children

learn their native language.

150. Noah Chomsky’s reference to “deep

structures” means a

(1) hidden set of grammatical rules

learnt through intensive study.

(2) transformational grammar that-has
led in tumn to increased interest in

comparative linguistics.

(3) a trend that English is the most
common -auxiliary language in the

world.

(4)  universal grammar underlying all
languages and corresponding to an
innate capacity of the human

brain.
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Candidates should answer questions
from the following Part only if they
have opted for HINDI as

LANGUAGE - II.
el Frfafad wr & T ¥ S
el Ol < 3T I WTET — I




L S T T p——— .
famnea =1 w9 T

121.

AR W A gl Rmn ame o

9 gk g€ ¥ | 39S AW W T el
3R e FFOE! B E Fat SRt @3
B M E | T e T e frar ¥
T YV et el & ST et d

TEET & | G & WA T @z

freelt Freroret &, 10 SOR ot W Qv
freperel @ | T qRsht W @t Wi e
WAl AR AN gud | 9w F st

T % TRT RmT ¥ ORR ¥ aR §

Trear & ot 39 faaR @ 9y s g € |

W A ) § W e B e w0
il Tgelt € | ER Ao € g e

T U g e 9g R e
Freer aTar ¥ 1 Eudt Wi s T

'Wmﬁﬁﬁﬁ%:@@ﬁ,ﬁ

et Tt @ o ¥ Fere s &, A
T7 & R T gE0 w1 e # SEE
et firem, et AT # 39 foene sfts @t
foer & 7% sfwer & wem o T @
T ST | I i ot ferepfaa wg
g T ¥ A a9 ot ¥ dugds g €
e e e w3 Ept weE %
sfyer et i o '

T
(1
(2)
(3)
4)

it sy
e T &
Feret s o
e

3 -l | fH9 W ¥ g 2

(1)

q_V
et 11

122.

123.

124,

(1)
@

125,

“as g a g T e
(1)
(2)

IS & & T S |

TIGIST ST WA Hael Wi W)
T B I B |

HIGHIST T T TEe H &
3=y AT ot v g e

3
4

E® = WRPHTET ) o fheR & E 7
(1)
@)
3)
(4)

g |
TEREER &
TS @

o

s
axngﬁ#a;f%narék“awq“u%'ézn“aurg;ﬂﬂ‘sﬁ
G B A ¥ 2

& =l vt &1 9K F TH

oot w1 st whe |
o

TSI % it frer 3
it et frenr S STfeEIT WA g

()
O

faame v ® 5 TR T UT W e
T ag R

(1) frafs
(2) . i
() I
(4) A



A

-126.

127,

128.

e TR

() fazisor

(2) frfago
(3) HETTE T
4 B

¥ F! TEREAR | &% geite hit TNE 98
WEHiE e T 1 A W deitea s
(1) fran fovam ’

(2) Freagearas gdam

(3) I vagarE® qaTH

(4) TeEyaETEE 9ETH

et AT FiowAt F TR Ft wwE T

o™ ¥ A ¥ fr e v wee
(1) ﬁmﬁ:‘a’s‘ﬁaﬁ'w%l ‘
@) saTREIdEATCE
(3) I HRAGATCE |
(4) =ifPaTTIEFET Y |

Ry ;. @ kv ™ Taw B W gEH W@

farer g wifT

T SEa @ T § g9 S o
Fe, AT UL A @) afyeafe d en
e ot SR @ g, gfer g S &
i &7 31cdd ST @ €, e g9 3
T A g ¥ | Ama @ o fafed s
= T f9 g0 ST T BT &, I uia

I ¥ F9 99§t T wehd | WHE-REG I

. P AW W EW 9T IHg A §, A

o e & v @ o §, e A s

FUR) Wit % €l ol % Oy ugear Y | uey

A o7 qfy; R, wgly i e
T, TR W & 3@ I SR TR, 9™
afaer Y e & I vaEe ufaea &

e R o e R

(52)

129. E® & ITAW 7w ek vl orag w

130.

131.

&2

() HeEE _
2 =fEmtEsd
() StuR¥dEE |
4) <t U H YA T/ HQ |

oEE F AN w9 feh A o dar
TFIFAL?

(1) =t AR & TH )

() o e T W

(3) et ot & A g & A 0
@) TAFTEW

AT 7 et 7 g & o FLL

- arR W Yaited et fea e &t e Ed

132.

FAAL?

(1)  TEEUT W

T G A e
ST ST B a0

wiftyer Al ) TWE

@
3)
@

ﬁmwﬁwrﬁaﬁaﬂaﬁ%wﬁw
ITEW (- ) BTy T s W ¥

(1) =

@) s

&)

(4 R



133, O VR W RHAATAIT S ?
n = '
@ =
3 @

@

134, Fran oft A @ ) e A Brar ¥
(1) 3w
(2) THUF
(3) Wumd®
(4 TEFE |

135. m%mwmmm%%
() e AT EA s R

@) W w s deawr atdr
 HEEw AR |

(3) Faw i viwE ST % R g
g

(4) dER ufAeE FEE TR % AR
®TAE |

Prden : e o e T

136. wﬁm@.wﬁmﬁﬁgﬁw%
(1) g eeam
@) el b R i
3) ma}mrsqaw@w
) Wﬁmaﬁrm

(53)

137. wiRaeE Frerar §-mire &

- 138.

(1)
@
©)

(4)

WW%W#W

it Tify & et S Ferer

aﬁaﬁ T TR B AT FH B
Rl

fofir=r wesrt 0t Stoenfies. sreaies
wate H Sfererer ster St FHerer

WIS F HITA &

(D
2
3
“

T, ST, ve, e

139, a=a ey o @ weA

140.

(1)
@

3

4)

HiE ot et At 7 wE |
[ T U T € |
9 F3 fog uwd € |

AU FeT-TeT HI AT & AIE |
THEAE | :

forer e & ufEw | a=at @1 v faer
HAATHT AEwX &M 7

(1)~

@

3)

@

TS URER 78T ATl-fue e e
VAT HA § |

T URER 8T IRER % ot 95
Feat % a e siafw & €
ATF TEAE ¥ O T T
HIOL.FETRen ® e W g
T

TeTeres G AR TS BT AT ST




A

141, YT B WA &

(1) T & 99 g F o, 4
PI I :

(2) vE B FHEE G H T
fame

(3)  wiitagE g
(@) T guww! F e g

142. TFE THR ST U9 TTUTHG St w1 WIS

ST T AT H{A | At aem &7
(1) e &) R |
(2) maﬁﬂéﬁmwl

() Fedt gy o R

@) weH § N T v P |

143. Swa1 ¥ USA-HEpTa #1 famw & & fog

Eigciets

(1) w1 ¥ Y& R H S AW |
@ e e ¥ S |

(3) ! famarg = Ty |

(4) feq 9rlt 1 HEE-IT I |

.144.umﬁa?w'nrmﬁan‘i@1’ﬁem

\CEIC T

(1) u g nfafafr = 7

(2) T=Ei H SO Wgta w dift
FLATE | ’

(3) W-WWWW%l

(4) TEA-3NAW H T T T
Tl

(54)

145.

146.

147.

148.

149.

150.

Qe UgH TG HIEATE B FAWE HIAT
e dufgad

(1) feunfear

(2) Temtwmr

(3) Tewherpromr

(4) fewdifrn

T fiters Y T Sre LI

AT Y TGTAT N A

(1) o 9 &1 s & |

) TremaesfEad

(3) TEY 9 T W O ST WA |

(4) S I W H T
1 frrmfor weer € |

WTET- 3T S T e § g R
(1) URAQESH % nard & A
I H |

(2) e |

(3) 9 o framt s TR HA W
(4) T AET F A H |

T g & § aedl @t e &
T St '

(1) W A R

(2) TR & 3 T |
(3)  3reie wifige T AT AT |
(4) Ty Ve wEl FHE Oy |

Trefes T U WTET- 10T 1 SRV
(1) wfee =t faratt | aftfea o
(2) RS fafay = @ s s
(3) T G T
(4) T I FAN

e U@ At & frwewr swam wa §
(1) Freh = gwer %

(2) TS & e

(3) fer-omT W W % g
4) Iwh :



55
SPACE FOR ROUGH WORK

% HY F o e



(56)

sl

READ CAREFULLY THE FOLLOWING
INSTRUCTIONS: |

L

10.

11.

12

- completely with Blue/Black Ball Point Pen on Side-2

as under no circumstances {except for discrepancy

Each candidate must show on demand his / her

Out of the four alternatives for each question, only
one circle for the correct answer is to be darkened

of the OMR Answer Sheet. The answer once marked
is not liable to be changed.

The candidates should ensure that the Answer Sheet
is not folded. Do not make any stray marks on the
Answer Sheet. Do not write your Roll No. anywhere
else except in the specified space in the Answer Sheet.

Handle the Test Booklet and Answer Sheet with care,

in Test Booklet Code or Number and Answer Sheet
Code or Number), another set will be provided.

The candidates will write the correct Test Booklet
Code and Number as given in the Test Booklet /
_Answer Sheet in the Aftendance Sheet.

Candidates are not allowed to carry any textual
material, printed or written, bits of papers, pager,

- mobile phone, electronic device or any other material |

except the Admit Card inside the examination hall/
room.

Admission Card to the Invigilator.

No candidate, without special permission of the |

Superintendent or Invigilator, should leave his / her
seat. '

The candidates should not leave the Examination Hall |

without handing over their Answer Sheet to the
Invigilator on duty and sign the Attendance Sheet
twice. Cases where a candidate has not signed the
Attendance Sheet a second time will be deemed not
to have handed over the Answer Sheet and dealt
with as an unfair means case. The candidates are
also required to put their left hand THUMB
impression in the space provided in the Attendance
Sheet. - ’ .

Use of Electronic / Manual Calculator is prohibited.

The candidates are governed by all Rules and
Regulations of the Board with regard to their conduct
in the Examination Hall. All cases of unfair means will
be dealt with as per Rules and Regulatiohs of the
Board. ‘

No part of the Test Booklet and Answer Sheet shall
be detached under any circumstances.

On completion of the test, the candidate must hand
over the Answer Sheet to the Invigilator in the
Room / Hall. The candidates are allowed to take

away this Test Booklet with them.
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